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Mechanic industrial electronics Level 1

Q 1) How many class of accuracy is there in measuring instruments as per BIS?/dt 3‘I'I_§'W & W JUHRN
1 AU | fora= Sctadt @ gid 82

12
2)8
3)6
4)4

Q 2) Which among the following voltage can be used in Induction Wattmeter?/Fafefaa § Q@ & 3T, CleS ]
SUIRT SR dcHex | o o Havd 82

1) AC single phase/Q?ﬁ Thd IRUT
2) AC three phase/Q?ﬁ GIGECRYI
3) DC only/SIft dad

4) AC only(all type)/TH Had (@ UHR)

Q 3) If a fluid system is compared to an electrical system, the fluid pump will correspond to /

3R U R JUTTelt & gar1 faggd vorreft ¥ &1 St 8, aRa U F ST BT

1) conductor/hSF
2) lamp/%q

3) battery/aﬁ

4) insulator/faHae®

Q 4) Current is CLLIE] %

1) the presence of a positive charge/TUdh HHRTHD ol Bt U
2) the abundance of electrons ‘éc’Idgl"If Gl dgdiad
3) the movement of electrons/g?ﬁ@:ﬁ DI dld

4) the repulsion of electrons/sa?@'ﬁ Edl Eﬁ%ﬁ?ﬁf

Q 5) What do you call a diagram that shows the electrical connections of a circuit s components?/3{TJ Udh IR

&1 T B § Sl Wi P Uch! & fAggd P-1aRH QT 2

1) A schematic diagram/Udh oG 3R
2) A pictorial diagram/Udh ICECREEIREG]

3) A block diagram/Udh P 3G

4) An electrical diagram/Uch ﬁ?ﬂﬁ ARG

% 6) The basic difference between a fuse and a circuit breaker is/ U WRJo 3R Ffthe daR & Hd 3R

1) a fuse is slower/Udh W] ‘intlT%

2) a fuse is reusable/Ud WSl Y-: o3| %

3) a circuit breaker is reusable/Jdh RIET B g T %

4) a circuit breaker is more reliable/Jdh R S s ﬁ%{ﬂ:ﬂq %

Q 7) Which is the smallest?/ T BIeT T 82
1) atom/YIHI]

2) proton

3) neutron/<g¢Iq

4) electron,

Q 8) A secondary cell generates dc via chemical activity; a primary cell generates dc /
TS A1l Yol RS Tafafe & A1 F SRt S Bl 5; TP WU Ia
St ITF Bl §
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1) electrically/ﬁ_cgﬂﬁ

2) thermally/
3) optically/3iTDeal!
4) chemicallymm%

Q 9) What is the total opposition to current in a series RC circuit called?/Jdh %@?ﬂ IR fhe § gdA= & fog
Fd Ry 82

1) impedance/glﬁﬁﬂ Ell
2) inductance/3{TUTTA
3) reactance/Hfcsh T
4) resistance/HTaRTY

Q 10) In an ac circuit, an output capacitor and a resistor are connected in series with an ac signal. What filter

action will be the result?/@ﬂ;ﬁﬂ'ﬁfﬁ, Udh GWW aﬁiwuﬁlﬁ%ﬁ mﬁwﬁ%%
Y 93 B &1 uRoma &

1) bandpass@'?;qm
2) low-pass/PH U
3) high-pass/3= U
4) band-stop@?—ﬁq

Q 11) In a capacitive circuit, current flow is limited to e Fufdfed gfbe ﬁ, CREIERECI GE2
it 3

1) charging periodsﬂ'lﬁh 3afy

2) discharging periods/ﬁéfv':[ 3afy

3) neither charging periods nor discharging periods/= =T orafdr Sk = g fAde srafy
4) both charging periods and discharging periods/a:ﬁ IRT 31afdr 3R ﬁaﬂ:f 3afy

Q12)

1) conductors/HSac

2) semiconductors/3{ tf hgdex
3) inductors/ S8R

4) dielectricsﬂﬁifﬁﬁ?ﬁ

Q 13) Most older types of paper capacitors have been replaced by which type of construction?/TTR AR &
BT R THRI B forg YR & Fafor S st g mn g?

1) electro1yticﬁaﬁﬁ;ﬁﬁﬁ?ﬁr

2) plastic film/@IREH B! e

3) oxide casing/m SHTARUT

4) waxed paperﬂ:htf T 3T DTS

Q14)

1) pressure/qdld

2) pump/q'q

3) water wheel/ST¢T tI'%tﬂ
4) water flow/TTH! &1 YdTg

Q 15) What is the reactance value for a capacitor installed in a dc circuit?/Td S gfhe o wifoa gufa &
fere ufafrar g @ 82

1) zero/R[H

2) moderate/HEH

3) infinite/3d

4) cannot tell/a! SdT Fhdl

Q16)
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1) current leads voltage by 90°/aTHH ,aéﬁ Y 90 f&H oMY %
2) voltage leads current by 90°/deeol ,EIT‘TII'H I 90 F&Ut 3 %
3) current lags voltage by 90°/ [AdHE ,Eh@\_rf T 90 f&It fes %
4) current and voltage have a phase relationship of 0°/dTHM 3R diees H 0 f&3f o7 =Ror Gay grar %

Q 17) What is wrong with a leaky capacitor?/Jdh e Tenfea & qry o1 Terd 82

1)Itis open./q_ﬁ"@ifﬂél

2) It is shorted./TE XMcS B

3) The dielectric resistance has increased./cIdhdl 3T gfeRty o T{@ gé o
4) The dielectric resistance has decreased./GIhdl §3iT gfeRIY & g1 T/ %I

Q18)

1) increase/dg-l

2) decrease/@H!

3) remain the same/a@ YT aﬁ _E?[ Rl
4) be destroyed/T¥ g1

Q 19) What is the dielectric constant for ceramic?/RRTAF & 1%112 [EXI gl RIS T %?

1) between 6 and 8000/6 3TR 8000 & 1T
2)5

3) between 5 and 1000/5 3TR 1000 P S
4) 3000

Q 20) Power stored from the source and then returned to the source is called:/Ad T TG UTaR 3R fbr A
WACATIY_ FEd e

1) apparent power/J& Rfad

2) impedance power/‘;lﬁaT%IT e

3) reactive powerm Solf
RUEH]

4) true power,

Q 21) Which among the following device works on compressed air?/fY fEarg Ay w BdI R
HTH BT 52

1) Hydraulic@'l%@%

2) Pneumatic

3) Automatic/&IaTerd
4) Electronic/ﬂﬁ@%

Q 22) Which among the following fuel is used in Cetane Number?/31e T # fgfafaa %‘em FI B
SN faaT SITel &2

1) Diesel/STeld

2) Petrol/a'aﬁ

3) Furnace Ol JHfad
4) Shale Gas/RAd

Q 23) Which among the following term is used to denote the family of alkanes?/ e & URAR P VA & fom
fofafed safl & o 91 Wea ST a1 91 82

1) Olefins/3NATHT
2) Paraffins/GRT10T

3) Mercaptans

/ARBIYCTY
4) None of the above/gq'vef T ﬁ_‘éc aft 7‘|€[

Q 24) Which among the following chemcial bond exist in heavy vegetable oils?/HTRY Il aall § ¥ H 1
Fe HIvE 87
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1) Saturated Bond/Jqd CIE]
2) Unsaturated Bond/3{{JWd §I<S
3) Ionic Bond/3AIM® S8

4) Hydrogen Bond/g 33 SR

Q 25) Which among the following element is used as catalyst in converting unsaturated vegetable oil to saturated

mwgﬂ-;r%@?r [ ¥ DI T SRIgW Ifa dd It aat H uRafdd 3 & IERS & &0 8 7anT fear
EIGIK

1) Platinum/@feTH
2) Sodium,
3) Nickel/F@d

4) Vanadiu

Q 26) Which among the following is the correct designation of metric thread of 10 mm diameter?/FOfRaT H 9
D 7 10 el g & Hifed 4m &1 9 e 32

1) 10M
2) M10
3) M10
4)M10

Q 27) Which among the following is the magnitude of internal angle in a regular pentagon"/ﬁ'ﬂﬁlﬂ Jema o

3fiaRe B ) uReA FE F Y S AT

1) 70 degree

2) 108 degree
3) 135 degree
4) 240 degree

Q 28) Which among the following type of representative Factor(RF) is used when a line of 100 c¢m is represented

as 1 cm onascale?fﬁmWﬁﬁmmﬁﬁm(mﬁmﬂﬂaWW%w 100 TH
DI DI A R | GH & FIH R

1
2) 100
3) 1/100
4)1/50

Q 29) Which among the following is indicated with the help of a short break line?/Tdh BT 8 ER| P UGS Y
fFraffed & & 1 a1 add fear mr g?

1) Long length of uniform cross section/qH®Y 3THNT CHRE] FWI_S‘:
2) Short part of uniform cross section/THEY THNAT DT Tfera %W
3) Welding operation, T 3T

4) Surface treatment/Fdg BT IUIR

Q 30) Which among the following type of line is used to indicate cutting plane?/Idg HIc- Bl Jobd CE AN

g UpR 7 T ford TR o1 a1 BT IUTNT fodT ST g2

1) Dashed line/eRTRITAT 3T

2) Long dashed and dotted line/aTs ERTRI 3R fdieR Y@

3) Long dashed and double dotted line/STS ERTRI 3R o foidiaR YT
4) Zig zag line/fSTT 91T €184

Q 31) Which among the following is the recommended hole size of sieve tray com gared to the hole diamter in

terms of triangular p1tch’7/aa"ﬂ'0ﬁ'q U o AT ¥ 9 O & KL ﬁ g:ﬁ g 91, EISGil a Eal Hﬂ"ﬂﬁlﬁ
DE PR g2

1) 2.5 to 5 times/2.5 Y5TR
2) 1to 2 times/1 ¥ 2 AR
3) 5 to 9 times/5 JY9TR
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4) None of the above/gq'vef T ﬁ_‘éc aft 7‘|€[

Q 32) Which among the following stress is developed in a material that does not undergo any residual

defom%gngm%@aﬁﬁﬁ?maﬂﬁ,Q?ﬁmfrﬁwmmw%sﬁwm&mﬁm%m@
ToRdl 9

1) Yield stress/3Us d-1d

2) Elastic limitm forfire
3) Ultimate stress/3{faH dTG
4) Shear stress/UUU d-Id

Q 33) Which among the following term is used to denote the modulus of elastlcltyV/Fﬁ?[ & II'IS@?R:T PI G B
fore afafed srafy & & o1 91 Xea ST foba ST 82

1) Norman/ATH
2) Young/qT[

3) Stephenw
4) Arnold/

Q 34) Which among the following material is used in the construction of Lessing Rings ?/ AR fog & fAmfor &
Fraforied anmht & 9 frge Iuam fasar s g2

1) Ceramics/RIXfH®

2) PVC/diatet

3) Stainless steel AT WA
4) All of the above/SHTR & Tt

Q 35) Which among the following material is used in the construction of Raschig Rings ?/ XRI[d g & fmtor o
fFafofea e & § fraeT Iuant faa ST g2

1) PVC/adiRit

2) Wood/?lib_e_pf

3) Nylon/Ad@i—

4 All of the above/HUR & THT

Q 36) Which among the following is found in the nucleus of an atom?/FEfARGd A F P I UHIY] & NS o
7T STl 52

1) electrons and protons@?ﬁ'ﬂ 3‘ﬁ? IR
2) electrons neutrons

3) Protons and neutrons/'CﬁE'F[ E‘i 2 :?E'Ff
4) All of the above/3HTR & Tt

Q 37) Which among the following is positively charged?/ﬁ?lﬁ‘f@ﬂ T ¥ B I GHRIHS A0S %?

1) electronﬂaaflef

2) Proton/Ici

3) Neutron/mcglv:f
4) None of the aboveE:Fef I ﬁ_sc aft :@T

Q 38) Which among the following is a catalyst widely used in hydrogenation of vegetable oil?/AEfafad # 4

DI U RS AU U H G dd & SIS IoHIBR0 H UGN faar ST g2

1) Nickel/Mad

2) Platiunum/@eaH
3) Lead/dlS

4) Cobalt/®IaTec

Q 39) Which among the following is themost abundant of inert gases?/ﬁﬂﬁ@ﬁ T ¥ 91 fAfepg 79 &1
T8 YR AT H 82
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1) Helium@ﬁ‘l’qt[
2) Krypton@m@m
3) Argon/

4) Xenon/SHE

Q 40) Which among the following is the monomer of polyethene?/ﬁ'&ﬁ‘l@ﬁ T T B T T BT AR %?

1) Ethylene/U fret=
2) Vinyl Chloride/[dT8d FARISS
3) Ethyl alcohol/TiYT 3fehigd

4) All of the above/HUR & THT

Q 41) In the industry/shop floor, why one should not touch any machine/device with bare hands? / R/ g

& B A, foredt m=iiFy feargy &1 =7 g1dl @ oaf =8t g1 anfew

1) Risk of shock / w?ﬂ Sifad

2) Risk of getting burned / EGREZRSIIEL]
3) Both A and B / T 3R &Y g1

4) Neither A nor B/ Q:fEﬁ

Q 42) Communicating in a good manner comes under / 3BT IRE W TR BT S Siqid sMmar %

1) Reading skills / U@ T 1A
2) Writing skills / feRam &1 HIra
3) Technical skills / T&icp] IR
4) Soft skills / 9Tt P

Q 43) In electrical socket, the right hole is for? / g Widhe H, Tl ©¢ fhqd forg 2

1) Neutral / dC®]

2) Ground / ¥

3) Live / Sfad

4) Earthing / Y&+

Q 44) Power drill is a hand tool which is : / OTaR f$¢ Ueh &% U § off:

1) Corded / dRGR

2) Cordless / aRxfed

3) Both (1) & (2) / @FI (1) 3R (2)

4) Neither (1) nor (2) /T (1) SIRTE (2)

Q 45) In which of these, the line voltage and phase voltage are same? / 3?1}[ JHE I < Fleew 3R Tl
Freesl I 2

1) Star / dRRT

2) Delta / Se€T

3) Both (1) & (2) /@141 (1) 3R (2)
4) None of these /T @ﬁg Rl

Q 46) RMS is the value which considers same as that of DC of same value / SIRUHTY dg HIT % NIR:EIC
T & ST & JHH CIRCIE IR

1) Heating effect / dl4 YHTd

2) Charge transfer \ TTo! R

3) Voltage transfer \ ool RIFTART
4) Electron transfer \ 3@5@'\#{ RJIEIRRY|

Q 47) Imperial Wire Guage is also known as / U aRR IS BT 3R g = § o1 Siran %

1) Standard Wire Thickness \ dIR CHRIREA IhETé
2) Standard Wire Gauge \ HI-d dIOX |
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3) British Thickness Guage \ sfeg In_c"léﬂﬁf
4) None of these / E:Iﬁ I ﬁ's“ Tl

Q 48) CRO can be used to directly measure / ISR BT IYINT Y&ra: o1 J19- o e foban S wava g

1) Voltage \ Jreeol
2) Current \ faggd URT

3) Harmonics \

4) Ripple content \ TgX et
Q 49) Ohm s Law is valid for which of these? / 3 RIgid 378 ¥ forg & fow A 82

1) Resistance \ gfeRTY
2) Inductance \ 3TIVTIT

3) Capacitance \ﬂ'ﬁl‘l’é
4) Both 2 and 3\ 2 3R 3 1

Q 50) Silver lining on a carbon resistor indicates a tolerance of: (in %) / Y HTe TfeRIel TR Toid 3R

A B (% H)

12
2)10
3)5
47

Q 51) Air has a dielectric constant of: / AT ®T TP 3] e

D1
2)0
3)2
4) Close to infinity \ 3{=d & PG

Q 52) Direction of induced EMF in electromagnetic is determined by: / ﬁ?{lﬂ gma%’lu T ofed %QTI'Q"F 31 fa=m
forgds gr1 fuia foran s &:

1) Ampere s Law \ TR &1 R1gid
2) Gauss Law \ 149 &7 R¥gid

3) Faraday s Law \ Hre o1 Rigia
4) Lenz s Law / Tt &1 Ragia

Q 53) Which among these is an input device? / 3_'1'3[ JoH g1 Az g %‘?

1) Speaker \ dadl
2) Bar code Reader \ TRDIS JS

3) Printer \ g
4) Monitor \ HI TR

Q 54) Which of these is a kind of impact printer? / LK DI T ETa?R' ex %?

1) Dot Matrix Printer \ gle f@?ﬂ fleR

2) Inkjet Printer \ gapole Hier

3) Laser printer \ ToR fifex

4) All of these are impact printers \a et _Q'Taai' fliex g

Q 55) CD ROMs are organized as: / TS T areyd far Gﬂ?ﬂ%

1) Cylinders \ IRNER

2) Tracks \ §ic2

3) Cylinders and tracks \ ffere’t oIk yefvat
4) Master boot record \ HIRCXY §C S|

Q 56) Which of these ports cannot be used to connect a display device such as a monitor to the computer? / s:l'af
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¥ ford Ui o1 ST SR W AR S f$T fS$argy & dide HRA & e =181 foban S Tavdl 52
1) Display port\mthé

2) USB Port \ JUHE! UI¢
3) DVI-D Port \ SId1313-8} U1¢
4) HDMI Port \ TISITH3MTS TIE

Q 57) The following is a circuit simulation software: / fafafed ue afbe ﬁrﬂ@f‘x’ﬂ IR 8

1) PSpice \ drrsy
2) llustrator \ TSl
3) Audacity \ ATgRIHdl

4) Anaconda \

Q 58) Analog Electronics deals with: / T an s@aiﬁwao‘r WIHR %z

1) Continuous signals \ PRI e
2) Discrete signals \ 3¢l IRV

3) Both A and B/ A 3R B &l

4) Neither AnorB/TA-B

Q 59) BCD stands for: / St 1 3k %s

1) Binary Coded Decimal. \ E'IE_"Iﬁ PSS SUHAT |
2) Binaural Coded Decimal. \ EERUE ARG NE]
3) Binary Coupled Decimal. \ CIERKl gﬁil?f CQRMHAT|
4) Binary Coded Decipher. \ CIERKIl PSS SR

Q 60) What is the ASCII value for A in capital letters? / a% 3&RT T T T T&Dh! HA T %I

1)65
2)97
3) 56
4)27

Q 61) In this system, numbers are represented as decimal digits, and each digit is represented by four bits as the

digit value plus 3 /%Wﬂ?ﬁﬁ,ﬂ@ﬁﬁﬁ%&ﬁ%@ﬁ@hm% ﬁm%ﬁaﬂm
ERI B AA N3 & &

1) Gray code \ I BIE

2) ASCII Code \ 3R] HIS

3) Excess 3 Code \ TR 3 BS
4) Binary Code \ CIERREDS]

Q 62) In which operation carry is obtained? / feg s & grr ERCISAE RIS %?

1) Factorial \ 3{T
2) Addition \ TRT
3) Subtraction \ YUcId
4) Division \ HIT

Q63)S-R %atch is used in which of the following flip flops? / FEfIRAT ey Tl & TH-3R T &1 IUANT
far Srar g2

1) SR Flip flops \ TSR oy T
2) D flip flops \&I ey Tty

3) JK flip flops \ Sioh foheTT Ty

4) All of these \T gt

Q64)InaT flip flop, when T=1and Q=1.ThenQ=__ ?/UH A GaU g &, dT=1 3R Q=1. R Q
= 9
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1o
2)1
3)0.5
4) Indeterminate \ IEBIRG

Q 65) A master slave flip flop is constructed by using 2 / U Hifds I o Tty 1 fmToT 2 Dl
JUTNT R {1 STl 8

1) SR Flip flops \ THR Oy wilg
2) IK flip flops \ S T wrilg

3) T Flip Flop \ €1 firely TATg

4) D flip flops \ D flip flops

Q 66) A BCD to seven segement display decoder consists of seven individual colored / SIS ¥ I

e e Spre O S-S i g e

1) Diode \ S8

2) Transistor \ ET%IET
3) LCD \ Uaile!

4) LED \ Uds el

Q 67) A BCD display has _ number of segements for all digits from 0 to 9/0 T 9 gt 3wl & 1%1@ Tdh
T fed e Bt T Edie

1) 10

2)9

3)7
4) 4

Q 68) A differentiator circuit consists of OPAMP and: / Tch ﬁm gfbe o m 3?1? Eﬁ?ﬂ %z

1) Only capacitor \ FHad GUTRA

2) Only resistor \ Fad gfaRreh

3) Capacitor and resistor \ TemRa 3R ufariel
4) Inductor and resistor \ TR 3R uferieft

Q 69) An inverting voltage amplifier has number of output/s / Y -1 & e TR |
3MT3TYE / T T T g

1)0
2)1
3)2

4) None of these /ST PIS ol

Q 70) 8085 is a type of / 8085 PT UBR FIT &

1) Microprocessor \ HIZHITAAR
2) Microcontroller \ Seh! aa®
3) Microchip \

4) Operational amplifier \ U Te uRade

Q71) 80%1 microcontrollers have how many I/O ports each of 8 bit? / 8051 Wﬂ?ﬁ gfdcwfdad1/0
UIE B &7

12
2)4
3)8
412

Q 72) Which of the following is not one of the SFR addresses of the ports of 80517 [Fefafead g DI IT8051
& U P TAUHSHR & Tl & I T & 22

1) 80H/TT
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2) 90H/Td
3) AOH/T3NTT
4) DOH/ST3Ta

Q 73) Microprocessor finds application in: / ATSSh IR BT fAfNT BT fohar ST &

1) Speed control of motors \ el &1 71fa Ao

2) Control of hoist and cranes \ EPBW 3R 1 T frizrom
3) Stepper motor control \ TR Aex g0

4) All of these \ T T+t

Q 74) RTD is the abbreviation of: / 3RCIS! fbgpT H&T B:

1) Reluctance Temperature Detectors \W ATGAT U™ & ara
2) Resistance Temperature Detectors \ TfcRTe dTaH 3@ T DR arel
3) Resistance Temperature Demodulators \ UfeRYY qroHT %‘mﬁ@a

4) Resistance Thermal Detonators \ gfeRIy® yHd feeed

Q 75) An instrument that can be used at a distance, which allows scientist to work instrument at a safer place is

called / Ueh SUBRU FTehT STTNT 8 foban ST Wbl &, ST AT 1 JUDBRUT &b 1Y Teh JRIST VI TR
HTH B B A ST 2

1) Thermocouple thermometer \ YIS YATHICR

2) Manometer \
3) Barometer \

4) Infrared thermometer \ TP ¥ yAfHeR
Q 76) Strain gauge works on the principle of: /@f‘f o ford Rigid W WW%:

1) Length change due to manual interference \ ATA §&I8T & BRI T‘WI"&C PIRCRE]
2) Elasticity change due to pressure/Gdld & HRU Ty B gRad=

3) Elongation due temperature increament \dTJHTT Q'@ & HRU AGH

4) Variation of resistance due to applied force \ Ugdd ¢l & HROURIY BT AT

Q 77) Capacitive transducers can be used by | pofdfeq W BT IYTNT gRT
foan o S 3

1) Measuring change in distance between plates \ Wil & od &1 aRafdd _g'_\Pf AR
2) Measuring change in area of plates \ Wil & aRafdd & & Ju-T

3) Change in dielectric material \ 3{HATgH Il H Sgad

4) All of the mentioned \SCIRId TH

Q 78) Which sensor can detect nearby objects? / DI T YW G-I Pt aﬁ&}[ b UdT eI Hohdl %?

1) Proximity sensor \ ﬁ\_{ﬁﬁ T T 9Tl SR
2) Humidity sensor \ ATl Gded

3) Touch sensor \ el Gaewh

4) Pressure sensor \ GdId Jdad

Q 79) When voltage across a capacitor increases, what happens to the charge stored in it? / SId Udh et o

el a1 8, A ST TfId =Tel &1 1 Biel 82

1) Increases \ dgdl %

2) Decreases \ 9cdl %

3) Becomes zero \ [ BEIGIE

4) Cannot be determined \ IELIIEG] T‘|§3[ fopar S gar %

Q 80) Q (Ohm) is the Unit of 2/ (3f8H) DI 3PS 87

1) Resistance \ gfeRiy
2) Voltage \ Cl[ges]
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3) Current \ ﬁ?{ﬂﬁ YIRT
4) Inductance \ STIFTIT

Q 81) Thermistor is a contraction | AffeR T W %

1) Thermal resistor \ i mfaieht
2) Laser resistor \ §aifacd UfcRIe

3) Electric resistor

4) Mechanical resistor \ Apfdmd ufarieh

Q 82) To create a shift register, you have touse__ / e IR T & 1%111, 3MgH! CARRLRIN
HAT G

1) counters / EaRreR

2) transistors / A'

3) flip flops / ToTT TAITH
4) multivibrators /

Q 83) In an Non-inverting amplifier, if positive voltage is applied, then output will be: / Tdh qﬁ-éqalél
¥, afe HRIAS dlecsl AN b STl &, T ST3TYE ST

1) positive / HPRTHD
2) negative / THRIHD
3) both negative and positive / TR IRIHD 3R GRS ST
4) sine wave / g aq

Q 84) The number of bits in 8051 microcontroller is: / 8051 WT’R i ﬁ?ﬂ CARIRCI] %:

)4
2)8

3)16
4)32

Q 85) The purpose of strain gauge load cell is to measure ./ 19 HIU® S I (@f[ TN ds
H1 I PTG

1) compression / Gdld

2) tension / T-Id

3) bi-directional forces / fe-famats s
4) all of these / R qaft

Q 86) Effective Communication will not involve / THTE AR H T ol 6 i

1) listening / AT
2) reading / el

3) walking / YHAT
4) writing / foran

Q 87) Which among the following is modification of ring counter? / fFafafea i T s ar R sk o
TR B2

1) Johnson Counter / 9 BRI

2) Decade Counter / fShs BdR

3) Synchronous Counter / R IR

4) Asynchronous Counter / SHRITH B3R

Q 88) LVDT will not convert mechanical motion into variable: / LVDT BIECIINED] éﬁqaa e
RSl

1) current / {IGgd URT (@)
2) voltage /
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3) signal / R
4) impedance / HEERS]

Q 89) In full-adder, there are inputs and outputs. / ] TS ﬁ, <14c 3R 313cyc
gl

1) three, four / RGN
2) two, two /eIl

3) three, two / GIREA
4) two, eight / Eﬁ, 3TS

Q 90) Which computer hardware is used for producing sound in the speakers? / R H @ Sad A & fo
g FgeR FTSITR HT IUANT T oira 82

1) LAN card / EEIS

2) Sound card / TS HTS

3) PCI card / uﬁ%ﬁ@n‘%m‘s‘

4) TV Tuner card / Sldl AN HIS

Q 91) Thermocouple is a device which is used to measure ./ AP Th 3UDRT % ST
B AT & forg IuanT fpar Srar gl

1) pressure / GdId
2) temperature / ATTHTT

3) voltage / el
4) current / faggd URT

Q 92) The trainer kit of MOSFET chopper will not contain / MOSFET AR & E:N feed

IR

1) A.C voltage source /T Al |
2) Power MOSFET / UTdX MOSFET

3) Control circuit / HEId Wide

4) Milli-ammeter / fceil-Tmdler

Q 93) In strain gauge, the resistance changes with applied WA GRS ff, F’ﬂ"léﬁ ar &
1Y TRy el g |

1) energy / Sl
2) force / 91

3) current / fAggd URT
4) voltage / glees

Q 94) At any node/junction in circuit, sum of currents flowing in the node is equal to sum of currents flowing out

of the node, is not shown by_/ﬂ'ﬁ”_cfﬁw ﬁ%/ww,%ﬁﬁwﬁ@ Wﬁﬁﬁ:hg
 9TeR A a arelt faggd urT

1) Kirchhoff’s Point Rule / fhaI® @Ec d

2) Kirchhoff’s Junction Rule / fPxare SaRH 3d
3) Nodal Rule / 1Sd ¥

4) Kirchhoff’s Loop Rule / fdlth U ¥

Q 95) In 7 Segment LED display circuit, there are normally input connections. / 7 YT Q(’lég e
e #, MR W $TYE HHRM B 3 |

1)12

2) 15

3)8

4)6

Q 96) Behavioural skills is not related to: / JdgIR DA REEIRG Tl %I
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1) character / ECIEE]
2) maturity / ﬁﬂ?ﬂ
3) sense / JHHA

4) education / fRrem

Q 97) The software which makes Digital and electronic circuits to work, have option to support: / EIRS|VSERR

B B & fod fSfred ik gaaei=e Ifdhe s=1aT 7, I9d Uy T+ faded grar 8

1) Linux operating system / forerT sifaRfeT Req

2) Windows operating system / fdeie sifaefen fRen
3) MAC operating system / Ao TRfT e

4) DOS operating system / 19 iR Ren

Q 98) If the SMPS initially start and then stop, then you have to check for ./ qﬁ W'Cﬁ'@ URHH L= Eh?ﬂ
T IR R S g ST g, o 3! DI ST BT BT

1) Fuse / W]l
2) Resistor / TfeRIY®

3) Capacitor / TYTRA
4) Power cable / fooTett &1 e

Q 99) In half adder, two binary digits are added to produce outputs. / BTt TSR T, 33cYc 34

B P 170 &) SIS 3icp SIS (Feny) S ]

1) four / IR
2) two / &l

3) one / TP
4) eight / 3o

Q 100) The main purpose of motivational training is to boost the / IR UTRIET T qJe0 Bagq
DI FeEr SR

1) career / I
2) education / fRrem
3) performance /

4) working /

Q 101) Find the current in a circuit, if voltage of 80V and resistance 8k is present in a circuit? / 3R Tch gihe o

80V BT deesl 3R UfeRIY 8k HIGG & oY 39 Ffhe A faggd URT (@) &7 Udl THINT?

1) 5 mA
2) 16 mA
3) 10 mA
4) 14 mA

Q 102) A zero crossing detector detects the transition of /T I IR fSeaer & URTHA
&1 Ul G B

1) sine waveform / T Cepget

2) cos waveform / HIg IIBIH

3) square waveform / WIR JIBIH

4) rectangular waveform / W Japid

Q 103) The internal RAM memory in 8052 microcontroller is / 8052 4-II$9bI©b§IQ1< o s*C"‘I-ﬂ 31:[ ARt
gl

1) 16b

2) 128b
3) 256b
4)512b
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Q 104) is not the part of MS office software. / THEY 3HTthY JtedtR &1 fewr 78l 2

1) MS Publisher / THTY Tf&IRR

2) MS Paint / THTF Ue

3) MS Word / THTY a8

4) MS PowerPoint / THTY UTdRUlgC

Q 105%) Which riveting tool is used in small shops? / BIe g®P =1 o forg feafe ¢l (SUHRT) HT I far
SIGIGH

1) Hand Rivet Gun / %@'{ fRae ™

2) Lever Riveter / TR Raex

3) Battery Riveting Tool / et fRafen < (SUDHR)
4) Pneumatic Rivet Gun / @W e ™

Q 106) In capacitive transducer, two parallel metal plates are separated by J pufyfe TSR o al
AR YTd wWiel bl SR 3T fara ST 3|

l)gas/ﬁﬁ

2) air/dlg
3)oil /<A@
4) wood / m

Q 107) In microprocessor, are absent. / ATSHITIRIR ﬁ, &rg’tr@m gl

1) processor and ROM / TRIR 3R ROM

2) ROM and RAM / ROM () 3R RAM (3H)

3) processor and 1/O pins /IR 3R 1/ 0 oA

4) ROM, RAM and I/O pins / ROM (1) , RAM (¥) 3R 1/ 0 fu

Q 108) Function generator cannot generate waveform. / TaRI- SR T (éauo‘l"ﬁ)
I g R GhT 8|

1) Sine / HTg
2) Square | IR

3) Rectangular / W
4) Triangular / € 3@"%5’1?

Q 109) No display in Computer could not be due to ./ B T fET 91 811 &1 HRUI 8 IH T &

1) RAM /39

2) Power cable / EENIEIEEG]
3) CD drive / 131 3134

4) SMPS /

Q 110) Thermistor is a thermally sensitive ./ 4ffeR yrieh Yaeashta %I

1) capacitor / URIER
2) inductor / Y SICX

3) resistor / RfSreR

4) Both capacitor and inductor / FURICR 3R $8aeR GIHI

Q 111) In an Inverting amplifier, if positive voltage is applied, then, output will be:/ ¥-d & THATHRR ﬁ, afq
FHRIAS (AT diecsl AR BT STl &, Y, 3M3TYE BIT:

1) positive / HPRTHDH

2) negative / THRIHD

3) negative and positive / TDRIRTHD 3R FHRIHD

4) sine wave / Waa

Q 112) IC 555 timer is not used in ./ 3T 555 TTZHR BT ITART o Te fopan
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EIGIE!

1) oscillator / TR

2) transistor / ?\T%l??

3) pulse generator / URT SRR
4) timer / CITHY

Q1 1?% Multimeter is not used to measure / AecHeR BT TN &I A & ﬁ“l'q :TSQI fosar
SIGIE

1) voltage / Jleeo

2) current / faggd URT
3) resistance / U Ry

4) impedance / HEERS

Q 114) The output signal produced by voltage-controlled oscillator is digital J m-m TR gRT
33eye R fefrea gl

1) square wave / WRAg

2) rectangular wave / W G|
3) sine wave / HIg g

4) straight line / el war

Q 115) The maximum number of keys for analog IC tester to test is: / TRI&f01 R & o TATan m TR P
PRl (o) Bt sifiiman Tem &:

1) 24
2)16
3)5

4)10

Q 116) T- flip flop can be made from: / T- ey STy QWWW%I

1) JK flip flop / Si-o fOTT TRATT
2) registers /
3) counters /

4) multivibrators / Ilm

Q 117) In Gated S-R Latch, which among the following statement is correct? / TCS TU-3R NEl ﬁ, ffafea o
DI G YT el 52

1) Latch is active when ENABLE signal is LOW / 7§ ENABLE 9l & gla1 8 a9 o 9fpa glar g

2) Latch is inactive when ENABLE signal is HIGH / 1§ ENABLE fua 3if¥/es giar 8 aa g fAfepa giar g
3) Latch is active when ENABLE signal is HIGH / ST ENABLE Rird 3if¥ie gid1 § dd g Ifsha gidT &

4) Latch is inactive when ENABLE signal is both HIGH and LOW / ST§ ENABLE Rird 3if¥e iR &1 gl

2Ia1® a9 e Ffes giar g
Q 118) Printer that uses pin head is: /ﬁaa‘rﬁﬁ%?;wmm%a‘a’%

1) Laser printer / ToR fifex

2) Inkjet printer / gapoic e

3) Deskjet printer / SWpoc fiiex

4) Dot Matrix printer / 31 ﬁ'@ﬁm iR

Q 119) LCR meter will not measure: / LCR Tiex =T T AT

1) inductance / REb@ (I 8dcY)
2) current / [AGgd URT (HT)

3) capacitance / Y Xd @a@IET\ED
4) resistance / IGRIE] (ﬁ"\;rIRT\‘:D
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YAR gRT YA a1 faT ofra 82

1) Hammer / EQﬁST
2) File / ¥aT (P13

3) Wire stripper / 9TOR &1 BT AR aTall

4) Hacksaw / (_'ﬁET e P 3R

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=55
Q 120) Which among the following hand tool is not used by carpenter? / fafiied & 9 & 91 8TY & SUHRT

Q 121) To protect from fire, which among the following is not used. / 3T ECEIEE:D fou g T 3 forge
ORI T o e 1

1) Fire extinguisher / NIIDNIECT
BHY

2) Helmet /
3) Foam spray /
4) Cap / HT

Q 122) Perimeter of rectangle is equal to: / STId B IR TP RIS %z

1) 2(Length + Breadth) / 2 (F‘Ia'lé + ?ﬁ?fl_s;)

2) 2(Length -Breadth)) / 2 (GSTS -

3) 2(Length/Breadth)) / 2 (TaTS / ATSTS)

4) 2(Length + 2Breadth)) / 2 (GETS + 2 AISTS)

ILevel 1 Answer key

1(\?(l)l.estion Option ngestion Option 1(3(1)1.estion Option 1(3(1)1‘esti0n Option 1(\?(l)l.estion Option
1 2 31 1 61 3 91 2 121 4

2 4 32 2 62 2 92 4 122 1

3 3 33 2 63 4 93 2

4 3 34 4 64 1 94 4

5 1 35 1 65 2 95 3

6 3 36 3 66 4 96 4

7 4 37 2 67 3 97 4

8 4 38 1 68 3 98 3

9 1 39 3 69 2 99 2

10 2 40 1 70 1 100 3

11 4 41 3 71 2 101 3

12 1 42 4 72 4 102 1

13 2 43 3 73 4 103 3

14 4 44 3 74 2 104 2

15 3 45 2 75 1 105 1

16 1 46 1 76 4 106 2

17 4 47 2 77 4 107 4
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18 2 48 78 4 108 3
19 1 49 79 1 109 3
20 3 50 80 1 110 3
21 2 51 81 1 111 2
22 1 52 82 3 112 2
23 2 53 83 1 113 4
24 2 54 84 2 114 1
25 3 55 85 4 115 2
26 3 56 86 3 116 1
27 1 57 87 1 117 3
28 3 58 88 4 118 4
29 1 59 89 3 119 2
30 2 60 90 2 120 3

Mechanic industrial electronics Level 2

Q 1) Which among the following is the use of LSD as drug?/QaQﬂgl P IUINT gl & ®U | FyfRad 7 9

P AT]?

1) Steroid RIS
2) Sedative/dTafed
3) Analgesic/TTeoIIdH

4) None of the aboveﬁ_"r-ef T ﬁ?ﬁ ot 7‘133[

Q 2) For which among the following element the term amalgam is used?/FHfARad dal 7 ¥ fog & forg
TR Meq BT SUANT {3l SITell 52

1) Mercury/URT
2) Copper/?‘l'i_@IT
3) Lead/dTS

4) Nickel/Fod

Q 3) Researches of studying nature and type of forces that hold things together are dealt by

TPl BT LA P SR Fell b UPR DT LT B dTel MY Sl fob <ol Bl Teb Y 1@

R fparSrar g

1) physics/ ifae fage
2) digital designs/%ﬁl?ﬁ ESIER

3) math,

4) operating systems/aﬁcm%q Reew

Q 4) Branch of physics that deals with properties and behavior of elementary particles is called

1 T S UTUfiyes Huil & Uil 3R HaeR & Feifird 8 38

1) relativity/ﬂTa&ﬁT
2) particle physics/d Ul ifaet

3) nuclear physicsﬂlﬁ-lﬁq Hifde!
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4) chemistry/AETI fa3H

Q 5) Computer which is a product of chips has been developed from basic idea of @"IET, S
fowg &1 3TC §, qoyd faaR @ fawfd frar mar g

1 physics/“-ﬁm fas

2) operating systems/&m e
3) micro controllers/qua'ﬁ IERECT
4) English/3/ft

Q Z6f)%Physics is branch of science name PHYSICS means / Hifaapt fagm &1 Tman % I Hifdet &1
3

1) matter/gaTy
2) material/ATIH!

3) nature/'q?fﬁf

4) galaxy/3{TBTRII

Q 7) Branch of physics that deals with nuclear energies is called [OHIT & Y e et o <mar
cal eI Sl &

1) nuclear physics/?fﬁ-fa'ﬁ'q faet

2) particle physics/@ Ul ifaet

3) solid state physics/'l-ﬁ'f%la'? o= &1 31 s
4) relativity/aTaesdT

Q 8) Gravitational and electric forces are inversely proportional to WW 3R ﬁ?ﬂﬁ g famdid ¥4
3 ST &

1) distance@

2) square of distance@_\ﬁ Ak
3) mass/SSIHTA
4) square of mass/SSIHI B[ Ll

Q 9) Gravitational for%ce is force that is always W‘Sﬁﬂ ERERCH] % S Bﬁ"\’ﬂ
Gl

1) repulsive/qm

2) attractive/

3) opposite/ fata

4) both a and b/a 3R B &I

Q 10) Electric force between two charges is similar to gravitational force between /e arst &

dafiggasd, === FEPaeYUTd s aER

N

1) two point charges/ al ﬁ'g’ EISH
2) two point masses/&l foig souH
3) two bodies/al AT

4) two distances/al @

Q1) \%’hich of the following is false with regard to DC & AC 2/ S} 3R Tt & Ty & FoffRa # Y o= o
3T 72

1) Ohm’s Law applicable to DC only / 3figH RIgid dad St R Fﬂ"]\?lﬂT %

2) KCL applicable to both / HTA Gl & g Fﬂ"l%

3) Ohm’s Law applicable to both DC & AC \ 3fiey Rigid St ok Tt g R FIT’I@HT ?
4) KCL is applicable to AC and DC both / WQ?[ Q?ﬁ GﬁT St a:h R ?‘I'FI\E;IT‘IT %

Q 12) Which of the following is correct? / FH H I DI 9T TG 32
1) PMMC instrument can be used only for DC \ ITHTHHT SUHRUI T IUANT el ST o ferq febam ST ebelt
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g

2) MI instrument can be used only for AC / Q’qaﬂé JUSI had Q?ﬁ & 1%112 sﬁtﬂﬁ fooar S gear %

3) MI instrument cannot be used on DC \ S131TS TR TH3MTS IUDHRUT T SUTNT T8} fh T o Tebell &

4) Electrodynamometer type instrument can be used only for DC \ m UHR &1 dF Hhad SNl &
fore o o o Wt ©

Q 13) Which of these is used to melt solder wire to join metals? /38 9 fpaeT yam Yrq Call \_rﬁ?'bef & forg
e dR & fae & fore o e g2

1) Soldering torch \ s a=ma
2) Soldering iron \ IR 3RA
3) Soldering gun \ e ™

4) Soldering bulb \ TR Ted

Q 14) The kind of switch which is used for normal house wiring, belongs to: / g &1 PR o1 JanT
YR TR H I & forg fovan s 3

1) DPDT (MCB) \ SIUISIET (waiitalh

2) SPST (Tumbler Switch) \ THUITHCT (THeR ad)
3) DPST (MCB) \ CERIED)

4) SPDT (Tumbler Switch)/TIUIEICT (CraeR )

Q 15) KVL and KCL are laws of conservation of and respectively. / Fada 3R HHTA HH:
3R & TR & RSl 8|

1) Charge, Energy/qﬂ-ﬂT,BTrlf
2) Energy, Charge \Eﬁlf,qlﬂ?
3) Charge, Charge \ UHR, UHR
4) Energy, Energy\ B\_rl'f,

Q 16) Protective relays can be designed to respond to / GRETHD Ra® CARSCIE]

G & fore feemme forar o wpar §

1) Light intensity, impedance \ B! died, Ufdare

2) Temperature, resistance, reactance \ dTUHI, uﬁﬁ%r, ufafear
3) Voltage and current \ IS ﬁ?{lﬁ YRT

4) All of these \ T T+t

Q 17) In CMOS logic circuit the n-MOS transistor acts as: / ?ﬁ'@m Aot gfhe o Q:T-@&hw EA' R
DI T BT BT &

1) Load \HR

2) Pull up network \ eI 30 Jedd

3) Pull down network \ &I ST3 BEELT

4) Not used in CMOS circuits \ ?ﬁ'@@m gfche & TN :|_ng IERISIG %

Q 18) Binary counter counts from ___ / TR PIIR L IS e

H0to1\0T 1
2)1t02\192
3)0t02\092
4$0t09\0T9

Q 19) Where is the result stored after an execution of increment and decrement operations over the special -

purpose registers in PIC”/ﬂMﬁWWWWQ@@Tﬁ%W%ﬁW%W
TR B8 3G STl 82

1) File Register \ TIg¢ X SR

2) Working Register \ T IoeR
3)Botha & b\ T 3R &Y g
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4) None of the above \ SR HY ﬁ’sﬁ '_‘%3[
Q 20) LVDT is acronym of? / TAGISIc] [hadhT Wl 1H 7

1) Linear variable differential transducer \ X aRad=ia 3HIDH A IS
2) Linear variable differential transformer \ ¥ gfkad-ia W m
3) Linearly varying differentiator thermocouple \XfF U § geaH aT@f 3IH YHHISTIA

4) None of these / ST A DI ol

Q 21) In 4 Bands Resistor Color Code, tolerance is shown by /498 WRR PR PIS 'af, IR~
R e T B | - —

1) First digit / T8d 3i®
2) Fourth digit / T 3
3) Third digit / TR 3feh
4) Second digit / GO 3P

Q 22) The switch preferred to used for mains electricity is: / ¥4 IES] (fF\‘:[ sﬁ'ﬁﬁﬁﬂ) & ﬁ”l'q g
BT IUGRT ST fopar S 3

1) SPST

2) SPDT
3) DPST
4) DPDT

Q 23) Soft solder contain high amount of /TR FieeR ° S wEn H gl gt 3

1) tin/ fe1

2) copper / GIEL
3) zinc / STl
4) silver / il

Q 24) The load requirement in three phase AC power system is ./ T TROT T farsTel! goret (?«ﬁ ol T
TR ey o S Bl AMaTHAT R |

1) 700 watts / 700 dIC
2) 500 watts / 500 dIc
3) 1500 watts / 1500 dIC
4) 200 watts / 200 dIc

Q 25) Personal protective equipment will not include: / I ESHR] RET IUDUT | RIESER ]
1) gloves / G&I

2) respiratory equipment / g JUHT]
3) safety glasses / gR&T
4) fire extinguisher / RIIDNIECT

Q 26) Bipolar Junction Transistor comprises of regions. / %&Jﬁf (a'lgch?ﬂ) SENE] EA'ﬁlE? o
RERIECES

1) five / U@
2) two / &

3) three / T
4) four /IR

Q 27) IGBTS is not used in ./ 3TSSNaTET BT ITANT 7 7Y fpar Srar g1
1) traction motor / HYT iR

2) converters /
3) inverters /

4) power supplies / forett ot &T{ﬁ
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Q 28) Process switch is not actuated by ./ uferar faa SR Ui=ferd =gt fabar SiTdn % I

1) temperature / ATTHTA

2) motion / T

3) level / XX

4) flow / Udlg

Q 29) Which among the following, also result as force x velocity? / foffRa A ¥ e T ad x IS FuH o

gRoTd g 52

1) Work / BT

2) Power / fad

3) Energy / St

4) Displacement / fowimgq

ILevel 2 Answer key

Question No. | Option
1 4
2 1
3 1
4 2
5 1
6 3
7 1
8 2
9 4
10 2
11 3
12 1
13 2
14 2
15 1
16 4
17 3
18 1
19 3
20 2
21 2
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22 3
23 1
24 3
25 4
26 3
27 4
28 2
29 2
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